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CO 2CRT21 MCQ—BUSINESS MANAGEMENT
Section II
[TO BE ATTACHED TO THE MAIN ANSWER BOOK]
B.Com. DEGREE CBCS PRIVATE EXAMINATION, MARCH 2025

DO NOT WRITE YOUR REGISTER NUMBER OR NAME ANYWHERE IN SECTION II OF THE
QUESTION PAPER

Answer all questions.
All questions carry equal marks.
Put a tick mark [V] in the column against the correct answer.

1. Policy formulation is the function of':

(A) Top level management.

(B) Middle level management.

(C) Operational management.

(D) All of the above.

2. The principals of management are significant because of :

(A) Increase in efficiency.

(B) Initiative.

(C) Optimum utilisation of resources.

(D) Adaptation of changing technology.

3. Observe the following management principles and pick the odd one out.

Justify your answer

(A) Unity of command. (B) Unity of direction.

(C) Maximum output. (D) Equity.
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4. is the decision making body of an organization.

(A) Decentralisation.

(C) Functional organisation.

(B) Administration.

(D) Leadership.

5. Which among the following is not a nature of Management principles ?

(A) Rigid.

(C) Relative.

6. Top management is concerned with

(B) Universal.

(D) Human nature.

(A) Carrying suggestions upwards.

(B) Maintaining liaison with the outside world.

(C) Transmitting orders downwards.

(D) None of these.

7. Top management consists of
(A) Financial managers.
(B) Sales manager.

(C) Personnel manager.

(D) Board of Directors and chief executives.

8. Administration is an activities at
(A) Lower level.

(C) Higher level.

9. Management is

(A) Dynamic.

(C) Directing.
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function.

(B) Middlelevel.

(D) Both (A) and (B).

(B) Controlling.

(D) Planning.
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10. The term hierarchy implies

(A) Departmentalisation. (B) A definite ranking order.

(C) Specialisation. (D) None of these.

11. Purpose of time study is

(A) Toremove wastage of time.

(B) To give timely assistance.

(C) To determine fair days work.

(D) Watching time.

12. Authority refers to

(A) Getting work done.

(B) Right to get work done.

(C) Being in a managerial position.

(D) Secalar chain.

13. Which among the following is not an element of co-ordination ?

(A) Integration. (B) Balancing.

(C) Propertiming. (D) Directing.

14. Buget is an instrument of :

(A) Planning only.

(B) Control only.

(C) Both planning and control.

(D) None of these.
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15. Planning process begans with :

(A) Setting objectives.

(B) Identity alternatives.

(C) Developing planning premise.

(D) Selecting alternatives.

16. Planningis:

(A) Forward looking.

(B) Backward looking.

(C) Both forward and backward looking.

(D) None of the above.

17. Planning is

(A) Pervasive. (B) Futuristic.

(C) Continues. (D) All of these.
18. are guides to action.

(A) Strategy. (B) Planning.

(C) Policies. (D) Procedure.

19. Which among the following statement relating to leadership is false ?

(A) Leadership is a process of influence.

(B) Leadershipis goal oriented.

(C) Leadership is bossism.

(D) A leader must have followers.
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20. Which among the following is not a style of grid in the managerial grid by Blake and Mouton ?

(A) Task management. (B) Innovation management.
(C) Middleroad. (D) Country club.
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